## GOVERNMENT OF MANIPUR OFFICE OF THE DEPUTY CONSERVATOR OF FORESTS: TENGNOUPAL FOREST DIVISION TENGNOUPAL: MANIPUR

#### e - A U C T I O N N O T I C E Tengnoupal, the 24<sup>th</sup> January, 2023

No. 4/37/2020-21/TPL: - It is hereby notified for information to all the registered Forest Contractors/HPC cleared Wood Based Units situated within the Industrial Estate and general Yangou public and individuals that 12 lots of Khangra which were confiscated vide Confiscation Case No. 4/2022-2023 in the Court of the Authorised Officer, Tengnoupal Forest Division, presently stocking at J. Munnomjang Village (Border Area), Tengnoupal shall be sold by way of e-Auction through Forest Department's portal forest\_manipurforest\_gov.in from 24th January, 2023 till 3rd February, 2023 (09:00 pm). The e-Auction will be opened on 6th February, 2023 at 10:00 am.

The details including the term and conditions of the auction sale may be obtained from the portal *forest,manipurforest,gov.in* or the office of the Deputy Conservator of Forests, Tengnoupal Forest Division or the office of the Range Forest Officer, Tengnoupal Range during the office hours on working days.

Sd/(Dr. Leishangthem Jeeceelee)
Dy. Conservator of Forests, Tengnoupal Forest Division
Government of Manipur

Memo No. 4/37/2020-21/TPL Copy to:-

Tengnoupal, the 24th January, 2023

- 1. The Principal Chief Conservator of HoFF, Government of Manipur
- 2. The Chief Conservator of Forests, T-II, Government of Manipur
- 3. The Conservator of Forests, Eastern Circle, Government of Manipur
- 4. Notice Board, Dy.C.F/Tengnoupal

5. Notice Board, RFO/Tengnoupal

17.1.1 1 1 -- -

(A. Ranabir Singh

Member Secretary, Auction Sale Committee

O/o. Dy. Conservator of Forests, Tengnoupal Forest Division

Government of Manipur Range Forest Officer

Tengnoupal Range Govt. of Manipur

# GOVERNMENT OF MANIPUR OFFICE OF THE DEPUTY CONSERVATOR OF FORESTS: TENGNOUPAL FOREST DIVISION TENGNOUPAL: MANIPUR

Terms and conditions of the auction sale of the confiscated sawn teak timber vide auction notice no. 4/37/2020-21/TPL dated  $24^{th}$  January, 2023

- 1. Any registered Forest Contractors/HPC cleared Saw Mill located within approved MIEs/Wood based Units/Individuals may join the e-Auction sale.
- The intending bidders may register at the Forest Department portal forest.manipurforest,gov.in for participating in the auction sale and bid till 09.00 pm of 03.02.2023.
- 3. Auction sale of the Khangra/Yangou logs will be done in 12 lots.
- 4. The intending bidders may inspect the Khangra/Yangou logs and get themselves satisfied of the quality and quantity of timber before joining the auction. No complaint on the quality and quantity of the timber after finalization of the auction sale shall be entertained. Details of Khangra/Yangou logs can be seen from the notice board.
- 5. The intending bidders shall submit the duly filled in auction participation form (Annexed) along with the Earnest Money @ 5% of the value of the floor price of the Khangra/Yangou logs which is Rs. 266.00 per cu.ft. as fixed vide U.O. No. 7/2022-23/FD(19-P/6) dated 22.09.2022 of the Finance Department, Manipur, if they are interested to bid in the form of D-at-Call/Banker's cheque from any Scheduled Bank drawn in favour of Deputy Conservator of Forests, Tengnoupal Forest Division, Manipur or in Cash to the O/o. Dy.CF/Tengnoupal for joining the e-auction sale for the lots latest by 09:00 pm of 03.02.2023.
- The Earnest Money deposited shall be refunded after finalization of the auction sale or may be forfeited to the Government if the terms and conditions of the auction sale are violated.
- Amount once bided cannot be withdrawn. In case of withdrawal, the Earnest Money Deposited will be forfeited to the government.
- 8. The successful bidders shall deposit the bid amount along with taxes to the Division Office within 5 (five) days of the approval of rate by the competent authority, failing which, the EM will be forfeited to the government.
- The timber shall be for consumption within the state of Manipur only and no permit for transportation of timber outside the state shall be permitted.
- 10. The Dy. Conservator of Forests, Tengnoupal Forest Division, Tengnoupal reserves the rights not to accept or reject any tender/bid without assigning any reason thereof.
- 11. Acceptance of the bid amount will be subject to the approval of the appropriate authority of the Forest Department, Manipur
- 12. In case of any dispute, the decision of the Conservator of Forests, Eastern Circle, Government of Manipur shall be final and binding to all the parties.

Member Secretary, Auction Sale Committee

O/o. Dy. Conservator of Forests, Tengnoupal Forest Division Government of Manipur

> Range Forest Officer Tengnoupal Range Govt. of Manipur

Abstract of the Lot, floor Price and earnest Money for the auction sale of Khangra/Yangou logs vide Auction Notice No. 4/37/2020-21/TPL dated 24th January, 2023

Sl. No.	Lot No.	Quantity (in cum)	Quantity (in cft)	Upset Price (₹)	Amount	5% Earnest Money
1	1	20.98	741	266	197106	9855
2	2	19.60	692	266	184072	9204
3	3	19.48	688	266	183008	9150
4	-4	9.88	349	266	92834	4642
5	5	9.94	351	266	93366	4668
6	6	7.14	252	266	67032	3352
7	7	18.41	650	266	172900	8645
8	8	17.78	628	266	167048	8352
9	9	19.60	692	266	184072	9204
10	10	18.43	651	266	173166	8658
11	11	9.83	347	266	92302	4615
12	12	8.92	315	266	83790	4190
		180	6356			84535

(A. Ranabir Singh) 24/13

Member Secretary, Auction Sale Committee
O/o. Dy. Conservator of Forests, Tengnoupal Forest Division

Government of Manipur Range Forest Officer Tengnoupal Range Govt. of Manipur

### 7 18 17 19 18

## GOVERNMENT OF MANIPUR OFFICE OF THE DEPUTY CONSERVATOR OF FORESTS: TENGNOUPAL FOREST DIVISION TENGNOUPAL: MANIPUR

### **AUCTION PARTICIPATION FORM**

Auction sale of Khangra/Yangou logs vide Auction Notice No. 4/37/2020-21/TPL dated  $24^{th}$  January, 2023

1. Name of bidder:	
2. Father's name:	
3. Full Address:	······
4. District: Pin code:	
5. Phone/mobile no.:	
6. Name of firm with Registration No. & year:	
( not necessary in case of individual)	
7.D-at-Call/Bankers Cheque;	
I) Drawer Bank:	
II) D-at-Call/Bankers Cheque No. & Date:	
III) Amount:(Rupees)	
l, Shriby the terms and conditions of the auction sale.	agree that I will abide
	f the bidder